= o
A & 0l & AF 2 E A A
20178 & =04 LBHSIH S Al
2N S Al
B CANZ(RELNANL/XAL A
et CAIHE S (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S Al 19,390, 186 15,137,229 4,252,957
Xl 7,153,000
< 242,000
Al 11,995, 186
SANL(ZELXNGMNL/NEL A 12,571,402 10,751,870 1,819,532
Xl 3,161,000
< 242,000
Al 9,168,402
S AHEE 816,180 496,294 319,886
S A& 2te 654,540 450,700 203,840
201 Let24E] 45,540 40,700 4,840
01 At 22l 35,540 30,700 4,840
OEANEE A3l 50,000& = 123 600
OSAMAEARSZ SIAME oI
70& * 5,00004 * 63 2,100
OZAIZeIHE () FRIJAFF ME2 12
2,000,000& = 2JH Ak = 33l 12,000
OZANEEHEEE 2ZetZey 23 7“4
A) 1,000,000& * 1CH * 43 4,000
OEAMAAZE * TANUESSAAS 16,840
— 2995 2Y4+2(0I2R)
70,000& * 14H « 53] 4,900
—H22 223 292 (0I2)
70,000& * 69Y « 73l 2,940
—2g=2g(=F) 30,0008 * 14Y * 63 2,520
— S0l (22d3) 90,000% * 6% * 53 2,700
—HA0H(2UA3S])
90,000& = 69 « 73l 3,780
02 =224l 10,000 10,000 0
OZAMAHAHFEMA(UPIS) SNE=
10,000,000& * 14 10,000
203 R =&l 9,000 10,000 21,000
03 A FXH R =ZH| 9,000 10,000 A 1,000
OFRAE SetAIY =& 3,600,000& » 14 3,600
O=EMgAH= 22 =& 1,800,000& » 14 1,800
OXYGIHLAY =& 1,800,000 = 14! 1,800
OSZAIHEAY =& 1,800,000 * 14 1,800
207 O] 600,000 400,000 200,000
01 2284 600,000 400,000 200,000
Og=xF ZAIIZAE =8 & TAZeH=E M
gl 29 00,000,000& * 14 600,000
SAAHE A 2e 161,640 45,594 116,046
305 & =S 161,640 45,594 116,046




2AM: ZAD

HE: CANS(ZELNANL/NALEAI)
Chel: SAHESE (=& J)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 HH& S S 161,640 45,594 116,046
ORoIsS2(=2AE8E) X=(0153)
920,750& = 12& 11,049
ORYIS2(E2AEE) N=(Z2BH)
397,700& = 12& 4,773
ORHIIS3(E2ZAEE) NS(2EH)
211,500& ~ 12& 2,538
ORHIIS3(=E2AEE) NZS(LE0t)
185,510& » 14 186
ORHOIS3(E2ZAEE) NS2(HEH)
284,000& = 12& 3,408
ORE0sS3(E2AEE) NS (ZaAER 17)
1,969,960& * 12& 23,640
ORY0S2(=E2AMEE) XN=(&=X)
1,842,000& * 638 116,046
SAIDIEtES 5,940,984 5,468,738 472,246
Xl 874,000
< 200,000
Al 4,866,984
SAAHEEZ2HE 2,585,000 2,675,000 290,000
401 AIEHIZ 28I 2,585,000 2,675,000 290,000
1 A&l 2,568,305 2,655,920 A 87,615
OZClglisd MY 2(521-218)MH4
2,920,000 * 250m * 99.37/100 725,401
OS2l MSHEAN @ SAAHEZZ(S51-2
S)Hd 4,375,0002 * 160m * 99.37/100 695,590
OFZHDLY TAIAHE (£23-508 )&
3, 187,500% * 80m * 99.28/100 253,164
OMYEs SMW3~FZFuXZ2 T2 (UH23-7)
e 3,500,000 * 200m * 99.37/100 695,590
OSESHIUNAAEAML (SHEA L S=0/Al
& &X) 200,000,000 = 14l * 99.28/100 198,560
03 Al 20 HI 16,695 19,080 22,385
OEZcldlisy dUE2(F21-218)M4
2,920,000 * 250m * 0.63/10 4,599
OSg2 A2FEAWL & TAHEZZ(F1-2
S)H4d 4,375,000& * 160m * 0.63/100 4,410
OZZHLY TAHEEZ(L23-508)M4E
3,187,500 * 80m * 0.72/100 1,836
OMYE SMWF~FZFUXZ2 T2 (UH23-7)
e 3,500,000 * 200m * 0.63/100 4,410
OSESHIUNAAE ML (SHEA L S=0/Al
& &X) 200,000,000 = 14l * 0.72/100 1,440
SANHE RGN S22 566,000 977,000 A 411,000
301 L2 AF 6,000 6,000 0
MIEE43 6,000 6,000 0




2N S Al
M AN (ELXNGMNL/TALE Al
Chelr S AIDIBtEA (=& J)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OQEItE Iztel SAAl &oil XIZHI
300,000& = 20A 6,000
401 Al HIZ 201 I 560,000 971,000 A 411,000
01 A& HI 555,608 969, 236 A 413,628
OAJIXIL o1& 218 B
500,000& * 200m * 99.10/100 99,100
OMZual~7 FEAM2 UAZ=FHHIS A
312,500& * 320m * 99.10/100 99,100
OANE~-FdSRH=2 A FH SA
300,000& * 400m * 99.28/100 119,136
OFHE2He~HMRBAHAAEIZ2E A= HBISAH(F
BIEF O 0l &) 600,000& * 400m * 99.28/100 238,272
03 A& 2 THHI 4,392 1,764 2,628
OAJIXIL o1& 218 B
500,000 = 200m * 0.90/100 900
OMZual~7 FEAM2t UAZ=FHHIS A
312,500& = 320m * 0.90/100 900
OANE~-FdSRH=2 A FH SA
300,000 = 400m * 0.72/100 864
OFHE2He~HMRAHAAHEIZ2E A= HBISAH(F
BIE O Ol &) 600,000& = 400m * 0.72/100 1,728
SANE2EH 24,800 24,800 0
201 Let249] 3,200 3,200 0
01 At 22l 3,200 3,200 0
OZ322&ds &g =4 3,200
— S 70,0003 * 8% « 43| 2,240
—MNEZESE 30,0003 = 8% « 43 960
202 O4dl 21,600 21,600 0
01 = LH 4 1 21,600 21,600 0
OXNGIHL= FRAE 22 =
90,000& = 2 * 10& * 123 21,600
SAIZZAIE S 2L 191,184 151,938 39,246
101 @14 dl 12,424 11,578 846
04 JIZHZ2XNESE = 12,424 11,578 846
o4l 2AFY A=Y
51,760& = 2 « 5& » 123 6,212
O2%t2 el 3 &Y AR
51,7603 = 2 * 5& » 123 6,212
201 Let24d] 38,760 37,360 1,400
01 At 22/l 1,800 1,000 800
Ozt & 232 JHel 4825 78
50,000& = 5& 250
Osthl & 33712 28 "2
50,0003 1500 4 750

_3_




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OB AN (== 22U, 23AHel=2+U)
=253 50,000& * 2Ji 4 + 8& 800
02 =224l 36,960 36,360 600
o240 ®) U 4545 23
1,300,000& * 12& 15,600
O&ste JHel &I 2 4otk 23
800,000& « 12& 9,600
O23%t9 el s2d3E 82 =8 &Ies
50,000& = 12& 600
O3% & dJIes 180,000& * 12& 2,160
Osgtw & 23712 HEs 8IIe=s
50,000& = 15004 = 128 9,000
401 AIEHI L 2CHYI 140,000 103,000 37,000
01 A& HI 140,000 103,000 37,000
ORAANF=IE 2=HelAlE =Z2H WH
8,000,000& =+ 4CH 32,000
OR4A =XE MEE2(ASHM, 2SS, &
FaBs, F=XE S) A2
10,000,000& * 14 10,000
ORMAZXE Q4aMeAL By Bae
| 30,000,000& * 14 30,000
SAMFIE 20 S22
5,000,000& = 14 5,000
OZ2=s 20U SXA2IH(XE, JIHS)
3,000,000& = 14 3,000
OYFE 240 2 =3 L 2Z26 A
5,000,000& = 14 5,000
Ogxs 20 & 2at2iel 92 Ec| &X
15,000,000& * 14 15,000
O2359 Hel A2 (=g, JIH, 2=U
g) 10,000,000& * 14 10,000
O=23te Hel(b72) dUS#HE AXSA
30,000,000& * 14 30,000
SITANESAE 400,000 0 400,000
< 200,000
Al 200,000
401 AIEHI L 2CHEI 400,000 0 400,000
< 200,000
Al 200,000
01 A& HI 397,120 0 397,120
OotY s 58S (SHSB)T2HE S A
4,000,000 * 100m * 99.28/100 397,120
< 200,000
Al 197,120
03 AIE 2 THHI 2,880 0 2,880
OdtY s 58S (SHSB)Z2HE S A
4,000,000& * 100m * 0.72/100 2,880




A ZAD

o CANL(FELNANL/NALEAI)

Chel: S ARt S (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
()X =205 X2 (0FA 2FOH) 2,174,000 640,000 1,534,000

X 874,000
Al 1,300,000
401 Al HI K 201 I 2,174,000 640,000 1,534,000
X 874,000
Al 1,300,000
01 A& Bl 2,166,174 635,968 1,530,206
OO0ry 28t SFTH gAY
2,174,000,000& = 14l = 99.64/100 2,166,174
Xl 874,000
Al 1,292,174
03 Al 2 THHI 7,826 4,032 3,794
OO0fyOHE H=HE ZHMY
7,826,000& = 14 7,826
CI Xt ol 2kl 1,417,438 84,838 1,332,600
ClRrerzte] 1,417,438 84,838 1,332,600
201 LEr2 Y| 33,902 31,302 2,600
01 At 22l 14,400 14,400 0
OSSUX(HF) QUAEZIt &M >E 14,400
— WSl 30,000 = 1H * 8 » 123 2,880
— A1 Hl 20,0003 = 19 = 8¢ » 123 1,920
—oAFA+F
70,0008 = 1H * 8 » 123 6,720
- MNEZESY
30,000& = 1 = 8AH » 123 2,880
02 3322l 10,392 6,792 3,600
OHdIIRa 7,992
—TAE FUSXNHH ML=
100,000& * 12& 1,200
_xl-/\l.al-/\'HE.l 34§ ,éio/ﬂxﬂaf’_} I:lol-%
HIIes 6,000& * 1185 » 12& 792
—U-City SEZMAH(AIZY) Iz
100,000& * 12& 1,200
—SAHY ¥ OSeSIHH s
100,000& * 12& 1,200
—=EAMHA B2 RS
300,000& = 12& 3,600
Oste=s 2,400
—U-City SE2NAH(AIZY) S22
200,000& = 123 2,400
03 A2 Z Hl 9,110 10,110 A1,000
O33LXe(HE) ZHEFA =2 L 0d] 9,110
—Jl2(SA+2)
400,000 = 9 * 1AI2+ = 13 3,600




2N
X ZH -
L= B

el

S A
CAMNS(ZELXAMNY /XS L Al
ClXtel 2|

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— T (SA3)
300,000& = 9 * 1AI2+ = 13 2,700
— Ol 90,000 = 99 » 1 « 13 810
— 84, T, EE=, LHEY UM S
2,000,000& = 14l 2,000
207 A RO 330,000 0 330,000
01 ¢ E2HH 330,000 0 330,000
OZAMNZE2 MEAE DHAHZY 89
300,000,000& * 14! 300,000
OZZOIXQ(AS) SHOAHSH M2 H
=g 89 30,000,000& * 14 30,000
301 et d = 53,536 53,536 0
MIIEELd=3 53,536 53,536 0
OS3UX(HE) QUAHEI} =&
4,111,320& ~ 198 » 128 49,336
O33UX(HF) QAEHEI} =& 4,200
— WSl 30,000& = 1H * 53 123 1,800
— Al 20,000 = 1€ * 10 * 123 2,400
401 AIEHI L 201 1,000,000 0 1,000,000
01 A& HI 993,700 0 993,700
OZAZ2 HEDID 2AEXEE EXAE
1,000,000,000& = 14l * 99.37/100 993,700
03 Al S HHI 6,300 0 6,300
OZAZ2 HEDID 2AEXEE EXAE
1,000,000,000& * 14l * 0.63/100 6,300
S ALTH 24 4,396,800 4,702,000 A 305,200
Xl 2,287,000
< 42,000
Al 2,067,800
S AITH A 1,800 202,000 200,200
203 YR =2t 1,800 2,000 A 200
03 A Z=AH S =AY 1,800 2,000 A 200
Ot AANY 2= S 2=
1,800,000 * 14! 1,800
(R)2 M (SAAMIKE )T A THE S A 3,934,000 4,500,000 A 566,000
Xl 1,967,000
Al 1,967,000
101 @124 dl 26,092 23,085 3,007
4 D12t Z2XEES 26,092 23,085 3,007
OZANMEXNHEE 2 AIRE U2 26,092
—Jl=s 71,7473 = 18 » 246 17,650
- =54 71,7473 « 18 « 529 3,731
— Qs esI=Y 71,7473 « 1H « 12¢ 861




SH: EAD
HE: CANL(FELTGHL/NALTAI)

Chel: S ALTH 24 (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= RS R = 3,849,300& * 14 3,850
201 L2l 178,244 171,159 7,085
01 At 22l 171,164 168,279 2,885
OSAMY dHE ss+9
348,021& * 53 = 1Y * 12& 20,882
OZAMY IOUOH &s¢
261,026 * 63 * 3% * 12& 56,382
OZANMY &3I s+
100,000& = 83| * 6H » 12& 57,600
OZANMMXAHLE J2AR 22|l
1,000,000& * 14 1,000
OSANTHMDI S U MAETEHOS SHLY(
slojEaMay, sloAMY S)
100,000& » 10¥ * 123/ 12,000
OZANTHMXAEE SALEXR
15,000& = 58fA « 12& 900
OSATHA A Xt Folde 25 WK (LA
g, 2g4l) 2,000,000& = 102l 20,000
O4Ln%2 =&2eltl 2,400
— S AMI| =2l 500,000& = 1CH 500
— T2l =2l 100,000& * 1CH 100
— =AM EH 200,000& = 32| » 104 600
—Z2H EUH(E%) 200,000& * 33 * 104 600
— DB E4(2ct) 200,0002 = 33 = 104 600
02 =224l 7,080 2,880 4,200
OZSAMMEXLE &IRS
400,000& * 123 4,800
OZANMMEXRALE S 2= 40,0008 * 123 480
OZANTHMRNALEH &otl=ER3
50,000& * 123] 600
ONZZEZ Zots MIIRE  100,000& * 123 1,200
207 A RO H| 300,000 0 300,000
01 AR EAHI 300,000 0 300,000
OZATHY A 300,000
—2LULHE 24 200,000,000& * 14! 200,000
—g&2dE U=s 100,000,000& * 14 100,000
301 L2 A3 20,880 20,880 0
09 ALAHI B &= 20,880 20,880 0
OZANHMEEEI, FRUHEE S 24l
6,000 * 20% » 243| 2,880
OZANHMEAEMED, FRHEE, 23 5 &8
A As, 385 F40H
90,000& = 20¥ = 103l 18,000
307 2Iz2tol A 200,000 150,000 50,000




DAl

B ZAMNL(FELXN LML /X

- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ 2t
02 QI AAIE E X 200,000 50,000
OZA MM F=01J& L A 2ASIAIS
5,000,000& * 1004 2 50,000
OFMAE T2 A A&
50,000,000 * 1Al 50,000
OFSUANE T2 29 X
50,000,000 * 14! 50,000
OR4d0s T2 A&
50,000,000 * 14! 50,000
401 AlEHIZL L2 0HY| 2,748,784 N 1,246,092
Xl 1,967,000
Al 781,784
01 Al&H| 2,728,992 N 927,866
OZA MM dZ ALY 2,728,992, 000 = 14l 2,728,992
Xl 1,967,000
Al 761,992
03 AlIE 2 HH] 19,792 N 18,226
OEAMAM & AHH 19,791,245& = 1A 19,792
402 BI2H X201 M 50,000 A 90,000
02 BIZEXIEAMNYEX(0IETHH) 50,000 50,000
OZANMM F022 A7 AFEHI
5,000,000& * 100 2 50,000
405 XHA&HF S HI 410,000 410,000
01 XAt 2 FF S| 410,000 410,000
OSMAE T2 29 227
190,000,000 * 14! 190,000
OFSUANE T2 29 =212
80,000,000 * 14! 80,000
OFRHE0Is 20 29 25729
140,000,000 * 14! 140,000
(2V)FHAXNGHE(ZAN(ZHAIZMELCS) 461,000 461,000
Xl 320,000
o= 42,000
Al 99,000
201 et d| 10,000 10,000
01 AFR 2t 2| H| 10,000 10,000
OMSOISAY 2O UIOIH, &SIt =&
10,000,000 = 14 10,000
301 et A= 10,000 10,000
09 #HAIAHI BAZ 10,000 10,000
OMSOISAIE 2OUIOIH , &30t  &&X
As 2SS HAHA M| 10,000,000 = {14! 10,000
401 Al HI L £ 0HHI 441,000 441,000
Xl 320,000
= 42,000




SH: EAD
HE: CANL(FELTGHL/NALTAI)

Chel: S ALTH 24 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 79,000
01 A& HI 437,825 0 437,825
OZtAtE ME0S ALY
441,000,000 = 99.28/100 437,825
Xl 320,000
< 42,000
Al 75,825
03 A& =2 THHI 3,175 0 3,175
OZAtZ2 MEDIS ALY 3,175,000& = 14 3,175
202 A(ZELXNIEMNL/RNEL Al 55,260 54,162 1,098
s2ns Fdl 55,260 54,162 1,098
2102 FHl 55,260 54,162 1,098
101 124l 16,150 15,052 1,098
04 D12t Z22XEE+ 16,150 15,052 1,098
O=sY Z21= Hd 2
51,760& = 2F 7 123 8,696
OZ1NE AYH AEA 22 A2Y
51,760& = 2F * 6 * 123 7,454
201 Lt 9,300 9,300 0
01 At 22l 9,300 9,300 0
OZils 48HM 2EH HAH
1,400& = 2,0000H 2,800
Odd==9 MNES 150& * 1& * 10,0000H 1,500
Ooss dC M= 50& = 2& * 10,0000H 1,000
OZNX W ZA=g 250,000& * 24 500
OZgYX s WM 10,0003 = 60 12l 600
ONA M= 50& = 4& * 2,0000H 400
OZ21D=FHl &= M=
60,000& » 5& « 23] 600
OZ1E FH &7 FY(UH S)
500,000& = 14 500
OmnsBANANG B 2
70,0003 * 5% « 43| 1,400
301 et a = 4,810 4,810 0
09 &AL HI B A S 810 810 0
O Z20=d FAOWH 90,0003 » 9% » 1 810
1MIIEBESS 4,000 4,000 0
ORs 28HZ1LE =AHB43 X3 2,400
—8H2(M) =AH 242 30& = 40,000& 1,200
—g88(4) = 242 20& * 40,000% 800
— Sl =) 24= 10& * 40,000& 400
Ok Z=tHs =3 HEH XA
400,000 * 48 = 13 1,600




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 25,000 25,000 0
01 A& HI 25,000 25,000 0
OHESALIAL X 100,000& * 500 & 5,000
O&8=2 A HHl & 014
3,000,000 = 200 A 6,000
O&=9 AN &X 7,000,000& = 2044 14,000
=) 83 Hd (MaI=XI/E) 93,285 173,116 AT9,831
FHEZME A 93,285 173,116 AT9,831
SANFHEZMNE 93,285 173,116 AT79,831
101 @14l 2,485 2,316 169
04 JI2ZtHZ22EE = 2,485 2,316 169
OAlE sl A2
51,760& = 28 * 2& * 123 2,485
201 L2l 10,800 10,800 0
02 2324l 10,800 10,800 0
OAEEH XU (ZAI2 EBHEZ, 2E0HS0L
g, SESEY, 252 2 S)
900,000& = 12& 10,800
401 A& HI K 201 I 80,000 160,000 80,000
01 A& Bl 80,000 159,100 279,100
FHEEMEASA 7 A2l (ZAES, &A
=, W3, st&0K)  20,000,000& * 404 A 80,000
SHZA(ZELXNGMNL/NLEL A 98,743 126,058 A27,315
SN2y 2l 98,743 126,058 A27,315
=dII2el 98,743 126,058 A27,315
101 @14l 1,243 1,158 85
4 JI12ZtHZ22HEE =+ 1,243 1,158 85
OANlE sX&el A2
51,760& = 2F * 3 * 43 1,243
201 L2l 63,000 106,400 A 43,400
01 At 22l 8,400 58,400 A 50,000
O=2&83 =&ZZA === 1,200,000& * 43 4,800
O2daM==x A& 1,500& = 1,200= * 23 3,600
02 2324l 54,600 48,000 6,600
O=2ds dllks 4,500,000& = 12& 54,000
O=2ds ste=s 50,000& = 12& 600
401 Al HIZ 201 Y] 34,500 18,500 16,000
01 A& HI 34,500 18,500 16,000
O+=2H 288 2AHH Wi (30HS)
3,000,000& = 24l 6,000




2N

X{ XH -
S =

S A
SHZ(RELNANL /XAL A

&?e: S22y 2l (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
O2d3 dIEd 2F WA 250,000& » 44 1,000
O&=3d MIALE WH(D8D) 500,000& * 14! 500
Otf=&= =£2/(30Hp&) 2,000,000& =+ 1CH 2,000
ORFT +Z2H WX (A4 30Hp)
10,000,000& = 14 10,000
O2& = =X HEWH(1,200€)
2,000,000 = 14l 2,000
Os=8Z wiH ¢ =2/(30H&)
3,000,000 = 14! 3,000
o2&+ 532 UXNE A &X
10,000,000& = 14 10,000
ICHIE =N sHEIBIAE (sEH L/ - 5F) 6,123,000 3,584,572 2,538,428
Xl 3,992,000
Al 2,131,000
OlcHE sHEOIS K 6,123,000 3,584,572 2,538,428
Xl 3,992,000
Al 2,131,000
(FINZZOLOICIHAIS (RAE)-RISZ 2 572,000 500,000 72,000
Xl 401,000
Al 171,000
401 Al HIZ 201 Y] 572,000 500,000 72,000
X 401,000
Al 171,000
01 A& HI 568,397 496,400 71,997
ORAE0E ML
572,000,000& * 14l * 99.37/100 568,397
Xl 401,000
Al 167,397
03 Al 2 THHI 3,603 3,600 3
OSRAME0ES ZAMHAMY 3,603,000& = 14! 3,603
(2)AI 222 0H0ICIOf AFRY (R 2 &)-XI & & 2 2 5t 150,000 0 150,000
Xl 105,000
Al 45,000
401 Al BIZ 201 8] 150,000 0 150,000
Xl 105,000
Al 45,000
01 A& HI 148,920 0 148,920
LS NSSSTMS
150,000,000 * 141 * 99.28/100 148,920
Xl 105,000
Al 43,920
03 Al S THHI 1,080 0 1,080
ORME0tEs NS LAY
150,000,000& * 141 = 0.72/100 1,080
(2)AI 222 0H0ICIOf AP (HI 2 01)-D| E A &I Bh et & 14,000 500,000 486,000
Xl 10,000




25 S A
M (M ES NS EIN RS (SHHL S /5 - 5&)
e DlcHE sHEOIS MY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
Al 4,000
401 AlEHIZL £ 0HY| 14,000 500,000 A 486,000
Xl 10,000
Al 4,000
01 Al&EH| 13,849 496,400 AN482 551
OS2 Z4AY
14,000,000 * 141 » 98.92/100 13,849
N 10,000
Al 3,849
03 AlE 21| 151 3,600 N 3,449
OS2 &AL 151,000& = 14! 151
(2)AIZZ20L0ICI AN (HIE2 0] )-K 9 S 22 5} 708,000 0 708,000
N 496,000
Al 212,000
401 Al HI L £ 0HHI 708,000 0 708,000
N 496,000
Al 212,000
01 Al& H| 703,540 0 703,540
O=2ses382 ZHAIY
708,000,000 = 14! % 99.37/100 703,540
Xl 496,000
Al 207,540
03 AlEE | 4,460 0 4,460
OSSEESZ2 TAAY  4,460,0008 * 14l 4,460
(Z2)ANZZOO0I0ICIHAIS (2BHDI RS Ul )-D| =M ED 430,000 714,000 A 284,000
bhs s
Xl 300,000
Al 130,000
401 Al HI L £ 0HHI 430,000 714,000 A 284,000
Xl 300,000
Al 130,000
01 Al& H| 426,904 709,074 A 282,170
OZ2HII&ESH HEOE ZHAY
430,000,000& = 141 * 99.28/100 426,904
N 300,000
Al 126,904
03 Al 21| 3,096 4,926 A 1,830
OZ2HII&ESH HEOE LAY
3,096,000 = 14 3,096
(Z2)ANZZ2OIOICIHAIL (Z2HINESU)-KIH A2k 306,000 0 306,000
=3
Xl 214,000
Al 92,000
401 AlEHIZL 201 Y| 306,000 0 306,000
Xl 214,000
Al 92,000




PICHTEE N SHEI SIS (SYHS L /5 - 5
DighE sOZE0tS MoHe

o
CEE B (BH) - HBRAY - BAS %Ei HR=2
01 Al&H| 303,797 0 303,797
OZ2AHIN&=SH HEOS XM
306,000,000 = 14! = 99.28/100 303,797
Xl 214,000
Al 89,797
03 AlE 21| 2,203 0 2,203
OZ2HIIEESH HEOS Z4HAY
2,203,000& = 1Al 2,203
(2)EAMESHANLA(RLE QN SH) ,200,000 182,000 1,018,000
Xl 600,000
Al 600,000
401 AlEHIZL 2 0HY| ,200,000 182,000 1,018,000
Xl 600,000
Al 600,000
01 Al&H| , 195,680 180,690 1,014,990
OFRELQotMEY OIS 2L ANY
1,200,000,000& * 14! x 99.64/100 , 195,680
Xl 600,000
Al 595,680
03 AlIE 201 Y| 4,320 1,310 3,010
ORFHLQANNEY OIS EL ALY
1,200,000,000& * 14! = (0.36/100 4,320
(R)=s=SAXNELH(LEIXR)(SE3)-JI=MED| ,260,000 1,400,000 A 140,000
e
N 882,000
Al 378,000
401 Al HI L £ 0HHI 1,260,000 1,400,000 A\ 140,000
N 882,000
Al 378,000
01 Al& H| 1,260,000 1,394,960 A 134,960
OsSHIXNF s=ZAXN 24HSAMY
1,260,000,000& = 14l 1,260,000
Xl 882,000
Al 378,000
DS EZSAMRNELEIF(HAESRNR)(EDS)-II=MED 400,000 0 400,000
=
Xl 280,000
Al 120,000
401 AIEHIZ 201 Y| 400,000 0 400,000
Xl 280,000
Al 120,000
01 Al&H| 397,120 0 397,120
OBJlg8 s8N 245 MY
400,000,000 = 14! = 99.28/100 397,120
Xl 280,000
Al 117,120
03 AlE 201 Y| 2,880 0 2,880




2AM: ZAD

FH: 21T E=ENsHE)IB RS (NS0 s - &)
el DicHE sSOHENS MK (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O3J18 sESHAN LAY
2,880,000& * 14 2,880
(Z)sESAHNELF} (AN R)(BJS)- NG L 720,000 0 720,000
st
Xl 504,000
Al 216,000
401 AIEHI L 2 CHYI 720,000 0 720,000
Xl 504,000
Al 216,000
01 A& HI 715,464 0 715,464
O2Jls sESHXN 243 MY
720,000,000& * 14l % 99.37/100 715,464
Xl 504,000
Al 211,464
03 Al S THHI 4,536 0 4,536
O2Jls sESHAN 43 A
720,000,000& = 14l * 0.63/100 4,536
(NG =QASINH (FHAZEASE) 363,000 0 363,000
Xl 200,000
Al 163,000
401 A& HIZ 201 8] 363,000 0 363,000
Xl 200,000
Al 163,000
01 A& HI 360,387 0 360,387
OFEANE SAMES
363,000,000& * 14l * 99.28/100 360,387
Xl 200,000
Al 160,387
03 Al S HHI 2,613 0 2,613
OFYAZE stA== 2,613,000& = 14 2,613
HAE2AZHI (S Al (IIEHDIE 160,496 148,851 1,645
el 2l 29,906 28,261 1,645
ol 2oyl 29,906 28,261 1,645
101 @14l 29,906 28,261 1,645
03 RIHAZ 22 29,906 28,261 1,645
Ozdazaeld 29,906
—-Jl=23 1,237,330 * 1€ * 123 14,848
— &0z 1,237,3302 * 100% = 19 = 43| 4,950
— S E St
1,237,330& » 75% » 1% * 23] 1,856
- &= 960
bH < Xt 40,0003 * 18 « 123 480
- JIE 20,000& = 2% = 12& 480




EA: SAD
M HESHBHI (AW (JIEH/DIE
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
ENFIEEN=:
9,590& * 150% * 15AI2F = 1H = 12& 2,590
—ggaesy
76,7203 * 150% * 14 = 10 1,151
— RIS 76,720¥ * 1H x 15 1,151
— M ZAH| 100,000& * 12& 1,200
— WEEXH| 100,000& * 12& 1,200
Jl=2&tl 120,590 120,590 0
Jl23Hl 120,590 120,590 0
201 et A | 24,890 24,890 0
01 AFR22t2ldl 24,890 24,890 0
OsAIEX #¢ 15,000& * 258t A x 128 4,500
OSZ0Aadl 6,000& * 64! » 204 = 12& 8,640
Ogite2 100,000& * 128 1,200
O EANFEHI 50,000& = 12& 600
O4ara2 =&2telt| 8,750
— S A =2l 500,000& = 1CH 500
— TElE %2l 100,000 * 5CH = 50/100 250
—SAI EY 200,000& = 53] = 104 1,000
— D2 EU(E8) 200,0008 * 53 * 504 5,000
— Z2E EU(Ze2H) 200,000& * 53 *« 104 1,000
—PC =2l 100,000 = 20CH = 20/100 400
— JIEt =2ly| 50,000& = 12& 600
OJIEF AFR 22| 5,000& * 208 x 12& 1,200
202 048] 82,800 82,800 0
01 2L Y| 82,800 82,800 0
OZAY 22 =& oYl 82,800
— ZLH O B 20,000& » 209 * 12 « 12& 57,600
— 2204 H| 90,000& » 20 = 14 25,200
203 PR =&H| 7,500 7,500 0
01 J|2A2H L R=XH| 3,300 3,300 0
OXNYgig=& J22IILFA|
3,300,000& * 1H 3,300
04 ENSHLRF=AH| 4,200 4,200 0
OFNM2IIRF&Y| 350,000& « 12& 4,200
204 &2 = A H| 5,400 5,400 0
01 MR- AY| 5,400 5,400 0
ONHBZHRHZ | 5,400
— KN =& 350,000& * 1 = 12& 4,200
— S A& 100,000& * 198 = 12& 1,200
WEES (A (ZELXAMNL/NALEAI) 298,000 298,600 600




2AM: ZAD

HE: HRHS(SAM)(FELXNAML/TALTA)
S WEAHAHX = (&)
= _ — d =

SN BA(SA) - MRAY - BES 0l &t o il HImEET
HEHHX = 298,000 298,600 A 600
HEHAH X = 298,000 298,600 A 600
701 JIEtSI HENMES 298,000 298,600 A 600
01 JIEtel N E= 298,000 298,600 A 600

OFJI0IEd TAAE HXEY SASEA
dES 298,000,000& = 14 298,000




